Formula Sheet for Math 151, Exam 1

EXPONENTIAL AND LOGARITHMIC FUNCTION

etV = e”eY, e’ = e—y, e = ("), In(zy) = In(z) + In(y), In (m) = In(z) — In(y)
€ Y
In(z¥) = yIn(z), In(e®) =z, @ =z, o° =M@ log,(z) = n(a)
TRIGONOMETRY
i 1 1
tan(z) = s1n(x)7 cot(z) = Cf)s(x), sec(x) = , cse(x) = —
cos(x) sin(x) cos(x) sin(x)
sin?(z) + cos®(z) = 1, sin(2x) = 2sin(z) cos(z), cos(2z) = cos(z)? — sin(x)>
1 1
sin(z)? = 5(1 — cos(22)), cos(z)? = 5(1 + cos(2z))
x 0| n/6 | wn/4 | ©n/3 | w/2

sin(z) | 0| 1/2 | v2/2 | V3/2| 1

cos(z) | 1| V3/2v2/2] 172 | 0

tan(z) | 0 | V3/3 1 V3 | 00
GEOMETRY
Distance: d = /(z1 — 20)2 + (y1 — y0)2

4 .
Volume: Cone/Pyramid: 3 base area x height, Sphere: gm"s
Lines: Point-point: V=% %~ , Point-slope: y — yo = m(z — x¢)
Tr — X r1 — X0

DERIVATIVES
e tan(z) = sec?(z), e sec(x) = sec(z) tan(z), e cot(z) = — esc?(x), o csc(x) = — csc(x) cot(x)



